
Answer on Question #73714 – Math – Statistics and Probability 

Question 

If a set of observations is normally distributed, what percentage of the observations differ from the 

mean by  

a. More than 1.3σ  

b. Less than 0.52σ 

Solution 

a. 

𝑃(𝑋 > 𝜇 + 1.3𝜎) = 𝑃 (𝑍 >
𝜇 + 1.3𝜎 − 𝜇

𝜎
) = 𝑃(𝑍 > 1.3) = 1 − 𝑃(𝑍 < 1.3) 

From z-table: 

𝑃(𝑍 < 1.3) = 0.9032 

Thus, 

𝑃(𝑋 > 𝜇 + 1.3𝜎) = 1 − 0.9032 = 0.0968. 

Percentage of the observations that differ from the mean by more than 1.3σ is 9.68%. 

b. 

𝑃(𝑋 < 𝜇 − 0.52𝜎) = 𝑃 (𝑍 <
𝜇 − 0.52𝜎 − 𝜇

𝜎
) = 𝑃(𝑍 < −0.52) 

From z-table: 

𝑃(𝑍 < −0.52) = 0.3015 

Thus, 

𝑃(𝑋 < 𝜇 − 0.52𝜎) = 0.3015. 

Percentage of the observations that differ from the mean by less than 0.52σ is 30.15%. 

Answer: a.  9.68%;   b. 30.15%. 
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